PackpouTte CKOOKM:
'(a+b+c+d)
-4(-a-b+c-d)
-4+(-a-b+c+d)
-/ (-a-b-c-d)
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PelunTte ypaBHEHUS:

1) (y-7)(y+2)=0

2) (x+10)(x-1)=0

3) (c-6)(c-9)=0

4) (b+3)(b+4)=0, N




YNpOCTUTL:

1) -16ab+59m+76ab-37/m+34ab
2) 23xy-15x+37xy-19xy-9x

3) (3X-7/Xy+3y)+(4x+5xy-3y)

4) (4x+7xy-2y)-(7x-4xy-3y)

O) (5X-8xy-2y)- (4x+5xy 3y) /
0) (AX+7Xy-2y)+(7X4XY=3 117




CamocTosTensbHas pabora:

1.PewwunTte ypaBHEHUA 1.PewwunTte ypaBHEHUS
a)0,4x+0,3x-0,84x=1,12 a)0,7x-0,4x-0,98x=12,73
; | 2 !
(0214 )-— (036~ 45 )= b= {033 4= 0
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5 Hai 2 .Hangnte 3Ha4yeHue
.Hangunte 3HayeHune BLIDAKEHNS:
BblpaXXeHUS:
-2m-(6n-5m), ecnu 5k-(3k-8p),ecr‘|-mr 5
m-2n=12 k+4p_17 |'l /rf '— =
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